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e p scanstr("banana”, [:anychar])
#:> [“b", llall’ IInll’ "a", "n", llall]

* p scanstr("banana’, [:alt, "b", "n"])
#=> ["b"’ "n", Ilnll]

* p scanstr("banana”, [:cat, "n", "a"])

#:> [“na“’ llnall]
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def scanstr(s, r)

s = s.split(//)
beg=0
result =[]
while md = cap_include(r, s, beg)
m = md[:all].begin
n = md[:all].end
result << s[m...nJ.join
beg =n

If m==n
If beg == s.length
break
else
beg += 1
end
end
end
result
end
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gsubst

def gsubsit(s, r) if m==n
s = s.split(//) If beg == s.length
beg =0 break
result =[] else
while md = cap_include(r, s, beg) result << s[beg]
m = md[:all].begin beg +=1
n = md[:all].end end
h=1{} end
md.each {|k,v| h[K] = s[v].join } end

result += s[beg..-1]
result.join
end

result += s[beg...m]
result << yield(s[m...n].join, h)
beg =n
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defscansti(s, r) if m==n

S = SSlet(//) if beg == S.Iength
beg = 0 break

result = [] else
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while md = cap_include(r, s, beg) «/7 EIB§3 031%
m = md[:all].begin beg += 1
n = md[:all].end end

N
H
/ ; \/ l O)
,/,/Z 7 . \\\
L] L
~

result <<

beg =n -
9 7' 0w
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- res = []; gsubst(s, r) {Istr, h| res << str }; res
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